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’ 100kN/mM##BZ % 1.00/ 000 ~ 148 122.46|3mZi#BRDH| - ~ = - -| 100kN/MZE#B 22 1.00| 12.61 ~ 23.00 122.46|3m%i#BZ % al ~ = = =
Zh st 1.00] 148 ~ 926 100.00] Zhust 000 ~ 9.26] 2.40 12.11 ZThLLSE 1.00] 500 ~ 1261 100.00f Zh it | 500 ~ 23.00] 2.40 12.11
9 100kN/mM#%#BZ % 1.00/ 000 ~ 1.62 124.82|3mZi#BZRDH| - ~ = - -| 100kN/MZE#B 2% 1.00| 12.68 ~ 25.80 124.82|3m%i#BZ % al ~ = = =
Zh st 1.00[{162 ~ 941 100.00] #hlist | 000 ~ 941 269 13.61 Zh LS 1.00|] 500 ~ 12.68 100.00| #hlist | 500 ~ 25.80| 2.69 13.61
3 100kN/mM##8Z % 1.00/ 000 ~ 168 125.68|3mZ#BZDH| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.66 ~ 26.70 125.68|3m%i#BZ % = ~ = = =
Zh st 1.00[ 168 ~ 946 100.00] #hlist | 000 ~ 946 269 13.62 Zh LS 1.00] 500 ~ 1266 100.00| Zh it | 500 ~ 26.70| 2.69 13.62
4 100kN/mM#%# 8% % 1.00/ 000 ~ 164 12511|3mZ#BRD| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.67 ~ 26.10 12511|3m%i#B% % = ~ = = =
Zh st 1.00[1.64 ~ 943 100.00] #hlist | 000 ~ 943 269 13.61 Zh LS 1.00|] 500 ~ 1267 100.00| Zh it | 500 ~ 26.10] 2.69 13.61
5 100kN/mM#%# 8% % 1.00] 000 ~ 1.31 119.87|3mZi#BZ5| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.63 ~ 21.05 119.87|3m%i#BZ% = ~ = = =
Zh st 1.00[1.31 ~ 9.10 100.00] #hlist | 000 ~ 9.10] 239 12.10 Zh LS 1.00|] 500 ~ 12.63 100.00| Zhlist | 500 ~ 21.05| 2.39 12.10
6 100kN/mM#%#BZ % 1.00{0.00 ~ 2.36 136.89|3mZi#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00[ 11.00 ~ 2457 136.89|3m%#BZ % = ~ = = =
Zh st 1.002.36 ~ 10.15 100.00] #n L4t | 000 ~ 10.15| 2.54 12.83 Zh LS 1.00|] 500 ~ 11.00 100.00| Zh it | 500 ~ 2457| 254 12.83
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZFhn st ~ ZFh st ~ Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ ZFh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~ |
=EFR



